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EHAE it

# snmpset -c¢ <read write_community> <device_name> .1.3.6.1.2.1.16.9.1.1.x.y <variable type>
<value>

X O|HIE ID(H= y) & =T LICEH

O|HIES MAISE{H 2 MRS £ 83HL|CHZE CHAol= THAlol CHEH AW 2%48H MIB ZH 7| Q]
O|&, OID(object ID), <variable type> & <value>7t Lt HHEo|M XS E L

M O|HEE X[SLICHHKX o o|d EstX| §L2X]
DE AM83HAAIL.
2.1.16.9.1.1.7.y

1. ID="y"E Al &%t 2|5 O|™
) OEX|ASHOE ID
* eventStatus / .1.3.6.1
* variabl e type=integer
* val ue=4

o Eest E? SYE P AL85tod o|HIEE X|SLICH
2. O|HE Hd ZEE AlFfgfLCH
eventStatus / .1.3.6.1.2.1.16.9.1.1. 7.y

* variabl e type=integer
* val ue v=2

3. OlHE MHEZ X|™HErLICH.
* eventDescription/ .1.3.6.1.2.1.16.9.1.1.2.y
* variable type=string (for Net-snnp) or octetsting (for Openview)

* value = a description of the event

4. Hst= O|HE fEE X|EELICH

* eventType / .1.3.6.1.2.1.16.9.1.1. 3.y
* variabl e type=integer

* value =

"1" => none

2" => log

"3" => snnp-trap

"4" => | og-and-trap

5. ERO| AHRLIE| ExXtEE KIEELICH
* eventCommunity / .1.3.6.1.2.1.16.9.1.1. 4.y
* variable type=string (for Net-snnp) or octetsting (for Openview)
* val ue="<trap_community string>"
6. O|HIES| ARKE X|HeLICt
* eventOmner / .1.3.6.1.2.1.16.9.1.1.6.y
* variable type=string (for Net-snnp) or octetsting (for Openview)
* val ue="<event_owner>"
7. O|HIEE &3l EhLCt.
* eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y
* variabl e type=integer
* val ue=1



# snmpset -c¢ .1.3.6.1.2.1.16.3.1.1.x.y <read _write community> <device name> <variable type>
<value>

ro

N

ok

Felst&lAlR.3

0|l

1. ID=yE AI8%E 2|& oI L& S XIELICH B O o|ld RS &
E—|x| oI-OE|=| |_-_|.E IDE A|. FQALC&
* alarnStatus / .1.3.6.1.2.1.16.3.1.1.12.y

* variabl e type=integer
* val ue=4

2_ 7=1I:I AHJH EI: = A'X 3}-L_||_—_|._
* alarnStatus / .1.3.6.1.2.1.16.3.1.1.12.y
* variabl e type=integer
* val ue=2

3. OlO|E{7} ME-E|1 AAHZ 71 & ﬂ?iﬂr HIXE&= 7t (Z)2 d™glct
* alarmnterval / .1.3.6.1.2.1.16.3.
* variabl e type=integer
* val ue=<n_seconds>
4. ZLIEHEE OIDE XIEgLict.
* alarnvariable / .1.3.6.1.2.1.16.3.1.1.3.y
* variable type=objid (for Net-snnp) or objectidentifier (for Openview
* val ue=<oid_to_check>

5. Hote ME RS HolgLch

* al arnmSanmpl eType / .1.3.6.1.2.1.16.3.1.1.4.y

* variabl e type=integer

* val ue=<rising threshold> "1" => absol uteValue "2" => deltaVal ue
6. 4B ERIMetE B RN

* alarnStartupAlarm/ .1.3.6.1.2.1.16.3.1.1.6.y

* variabl e type=integer

* val ue=

"1" => risingAl arm
=> fallingAl arm
=> risingOrFallingAl arm

W N

7. &6 A ZLE HelgLch.
* alarmRi singThreshold / .1.3.6.1.2.1.16.3.1.1. 7.y
* variabl e type=integer
* val ue=<rising threshold>
8. stehatE HolghLct.
* alarnfFal lingThreshold / .1.3.6.1.2.1.16.3.1.1.8.y
* variabl e type=integer
* val ue=<falling threshold>
9. & Ao =&Y M EE[HEY o|HE IDE XIFgfLICH
* alarnmRi singEventindex / .1.3.6.1.2.1.16.3.1.1.9.y
* variabl e type=integer
* val ue=<event_ID>
=foF &iAlgfol =utE i o|HE IDE X|IHELCt
* alarnfFal lingEventindex / .1.3.6.1.2.1.16.3.1.1.9.y
* variabl e type=integer
* val ue=<event_ID>

11. &2 ALK} X|H:



* alarmOwner / .1.3.6.1.2.1.16.3.1.1.11.y
* variable type=string (for Net-snnp) or octetsting (for Openview)
* val ue=<owner>
12. ZE & gdstefLch
* alarnStatus / .1.3.6.1.2.1.16.3.1.1.12.y
* variabl e type=i nt eger
* val ue=1

o

o ollofl A safaris XLt 22 S0 QIE{H0|A 122 0|S 5t HIOIE 47} 1400000000 = 10 Of
St i ERE E U= o AFSELICH.

Safarie Cisco 10S 2500 & Z E9J|04(C2500-JS-L), A 12.1(9), & 2|A AZ E 9 0{(fc1)ILICH.
O] of M= WS-C6506 Software, Version NmpSWOME MZMHo 2 AZE|R&LICHE.1(1b).

o Catalystoﬂﬁ Am[azi|o|ME &lst= CLI BEO| eIXIEF ME{e| snmpwalk BES AHE
sto =& = U&LCh.

Bt E{QF A2|X[0fA O] HI|Zei o2 ChA| Z=ElL|Ct

safari # show rmon events
Event table is enmpty

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 4
16.9.1.1.7.123 =

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 2
16.9.1.1.7.123 = 2

saf ari #show rnon events

Event 123 is under creation, owned by
Description is

Event firing causes nothing, last fired 00:00: 00

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.2.123 string "test_event"
16.9.1.1.2.123 = "test_event"

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.3.123 integer 4
16.9.1.1.3.123 =

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.4.123 string "public"
16.9.1.1.4.123 = "public"

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.6.123 string "event_owner"
16.9.1.1.6.123 = "event _owner"

# snnpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 1
16.9.1.1.7.123 =

safari # show rmon events

Event 123 is active, owned by event_owner

Description is test_event

Event firing causes log and trap to conmunity public, last fired 00:00: 00

safari # show rmon alarm
Alarmtable is enpty

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.12.321 integer 2
16.3.1.1.12.321 = 2



safari # show rmon alarm

Alarm 321 is under creation, owned by
Monitors ccitt.0 every 10 second(s)

Taki ng absol ute sanples, |last value was 0
Ri sing threshold is 0, assigned to event 0
Falling threshold is 0, assigned to event 0O
On startup enable rising or falling alarm

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.2.321 integer 120
16.3.1.1.2.321 = 120

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.3.321 objid .1.3.6.1.2.1.2.2.1.10.12
16.3.1.1.3.321 = OD: interfaces.ifTable.ifEntry.iflnCctets. 12

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.4.321 integer 2
16.3.1.1.4.321 = 2

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.6.321 integer 3
16.3.1.1.6.321 = 3

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.7.321 integer 140000000
16.3.1.1.7.321 = 140000000

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.8.321 integer 10
16.3.1.1.8.321 = 10

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.9.321 integer 123
16.3.1.1.9.321 = 123

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.10.321 integer 123
16.3.1.1.10.321 = 123

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.11.321 string "al armowner"
16.3.1.1.11.321 = "al arm owner"

# snnpset -c private safari .1.3.6.1.2.1.16.3.1.1.12.321 integer 1
16.3.1.1.12.321 = 1

safari # show rmon alarm

Alarm 321 is active, owned by al arm owner

Monitors ifEntry.10.1 every 120 second(s)

Taki ng delta sanples, |ast value was 130244

Ri sing threshold is 140000000, assigned to event 123
Falling threshold is 10, assigned to event 123

On startup enable rising or falling alarm
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